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LINEAR INEQUALITIES

1. Solve 30x < 200 when

(i) ¢ is a natural number.
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https://dl.doubtnut.com/l/_k7kZTO63VoMc

(i)  is an integer.

o Watch Video Solution

2.Solve b — 3 < 3z + 1 when
(i) x is an integer

(ii) x is a real number.

o Watch Video Solution

3.Solve 4z + 3 < 62 + 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_k7kZTO63VoMc
https://dl.doubtnut.com/l/_tIEPequkIFGI
https://dl.doubtnut.com/l/_drRYbokGqTuN

H — 2x

4, Solve — D.

<X
— 6

o Watch Video Solution

5. Solve 7z 4+ 3 < 5z + 9. Show the graph of

the solutions on number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_drRYbokGqTuN
https://dl.doubtnut.com/l/_YznlXKAuB32L
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3z — 4 S r+1

5 = — — 1. Show the

6. Solve

graph of the solutions on number line.

o Watch Video Solution

7.The marks obtained by a student of Class XI
in first and second terminal examination are
62 and 48, respectively. Find the minimum
marks he should get in the annual
examination to have an average of at least 60

marks.

| & I


https://dl.doubtnut.com/l/_o66rr2pbMCCb
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| ¥ Watch Video Solution |

8. Find all pairs of consecutive odd natural
numbers, both of which are larger than 10,

such that their sum is less than 40.

o Watch Video Solution

9.Solve 3z + 2y > 6 graphically.

o Watch Video Solution



https://dl.doubtnut.com/l/_JHQlxMCVuUZZ
https://dl.doubtnut.com/l/_s8BJg2iXJPFX
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10. Solve 3x — 6 =0 graphically in two

dimensional plane.

o Watch Video Solution

11. Solve y < 2 graphically.

o Watch Video Solution

12. Solve the following system of linear

inequalities graphically.


https://dl.doubtnut.com/l/_m2Y9wv1ajWbB
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https://dl.doubtnut.com/l/_tctUaPv9dcCM

r+y>5 ...(1)

r—y<3 ...(2)

° Watch Video Solution

13. Solve the following system of inequalities

graphically

bxr + 4y < 40 ...(1)
r > 2 (2)

y >3 (3)

° Watch Video Solution



https://dl.doubtnut.com/l/_tctUaPv9dcCM
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14. Solve the following system of inequalities

8z + 3y < 100 ...(1)
x>0 (2)
y=>0 (3)

° Watch Video Solution

15. Solve the following system of inequalities
graphically
r+ 2y <8 ...(1)

2z +y < 8 ...(2)


https://dl.doubtnut.com/l/_lg9qq0hiF2dw
https://dl.doubtnut.com/l/_LVobMQVXq8Kr

° Watch Video Solution

16.Solve —8 < bx — 3 < 7.

° Watch Video Solution

5 — 3x
17.Solve — 5 <

< 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_LVobMQVXq8Kr
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18. Solve the system of inequalities:
Jr —7T<5+«zx ...(1)

11 -5z < 1 ...(2)

o Watch Video Solution

19.In an experiment, a solution of hydrochloric

acid is to be kept between 30° and 35° Celsius.

What is the range of temperature in degree

Fahrenheit if conversion formula is given by
5}

C = §(F — 32), where C and F represent


https://dl.doubtnut.com/l/_ZFQsfYmlr4fH
https://dl.doubtnut.com/l/_eT2d0nleBkaZ

temperature in degree Celsius and degree

Fahrenheit, respectively.

° Watch Video Solution

20. A manufacturer has 600 litres of a 12%
solution of acid. How many litres of a 30% acid
solution must be added to it so that acid
content in the resulting mixture will be more

than 15% but less than 18%?

° Watch Video Solution



https://dl.doubtnut.com/l/_eT2d0nleBkaZ
https://dl.doubtnut.com/l/_r6QnbeGEDqV9

1. Solve 24z < 100, when
(i) x is a natural number,

(i) x Is an integer.

° Watch Video Solution

2.Solve — 12z > 30, when
(i) x is a natural number.

(i) x Is an integer.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_I90026OEg1Pj
https://dl.doubtnut.com/l/_g5o449mliVMn

3.Solve b — 3 < 7, when
(i) x Is an integer.

(ii) x is a real number.

° Watch Video Solution

4.Solve 3z + 8 > 2, when
(i) x is an integer.

(ii) x is a real number.

° Watch Video Solution



https://dl.doubtnut.com/l/_g5o449mliVMn
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Exercise 6 1 Solve The Inequalities In Exercises 5

To 16 For Real X

1.4 +3 < bx + 7

° Watch Video Solution

2.3x — 7> b5x — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_3aynQt3bsiJG
https://dl.doubtnut.com/l/_BlaP0osh6RMT
https://dl.doubtnut.com/l/_jRyY0s42RRh6
https://dl.doubtnut.com/l/_R3itf3MmM4V7

3.3(x — 1) < 2(x — 3)

° Watch Video Solution

4.3(2—z) > 2(1 - 2)

° Watch Video Solution

5. — 11
a:—|—2+3<

° Watch Video Solution



https://dl.doubtnut.com/l/_R3itf3MmM4V7
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6. solve the given inequality for real x:

2> 241
37 2

o Watch Video Solution

7. solve the given inequality for real x:

3(x — 2) - 5(2 — x)
5 - 3

° Watch Video Solution

8. solve the given inequality for real x:

1/ 3x 1
— == S (e —
2(5 —|—4)_3(£U 6)


https://dl.doubtnut.com/l/_kRENXezNY7tx
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° Watch Video Solution

9. solve the inequality for real x

2(2z +3) — 10 < 6(z — 2)

o Watch Video Solution

10. solve the inequality for real x

37— (3x +5) > 9x — 8(z — 3)

° Watch Video Solution



https://dl.doubtnut.com/l/_YqxHQfgbfMan
https://dl.doubtnut.com/l/_7v4nwjVuljms
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11. solve the given inequality for real x:

zr (bz—2) (Tz —3)
1°7 3 T 5

° Watch Video Solution

12. solve the given inequality for real x:

(22 — 1) - 3z —2) (2—x)

3 - 4 5

o Watch Video Solution

Exercise 6 1 Solve The Inequalities In Exercises 17

To 20 And Show The Graph Of The Solution In



https://dl.doubtnut.com/l/_mvcADsqOV7M4
https://dl.doubtnut.com/l/_a7e1WH17RKA0

Each Case On Number Line

1. solve the given inequality and show the
graph of the solution on number line :

3r —2<2x +1

° Watch Video Solution

2. solve the given inequality an d show the
graph of the solution on the number line:

Sr —3>3x — 5

° Watch Video Solution



https://dl.doubtnut.com/l/_itmwdYlGVfTE
https://dl.doubtnut.com/l/_HRlYlmQeioH4

3. solve the given inequality and show the

graph of the solution on the number line:

3(1—z) <2(x+4)

° Watch Video Solution

4. solve the given inequality and show the

graph of the solution on number line:
(b — 2) (7Tz — 3)

z S _
2 — 3 5

o Watch Video Solution



https://dl.doubtnut.com/l/_HRlYlmQeioH4
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https://dl.doubtnut.com/l/_1kqY3OOGRY5Y

5. Ravi obtained 70 and 75 marks in first two
unit test. Find the minimum marks he should
get in the third test to have an average of at

least 60 marks.

o Watch Video Solution

6. To receive Grade ‘A in a course, one must
obtain an average of 90 marks or more in five
examinations (each of 100 marks). If Sunita’s

marks in first four examinations are 87, 92, 94


https://dl.doubtnut.com/l/_1kqY3OOGRY5Y
https://dl.doubtnut.com/l/_zd9RHeQGpMlL
https://dl.doubtnut.com/l/_74MLNpz3CqBZ

and 95, find minimum marks that Sunita must
obtain in fifth examination to get grade ‘A’ in

the course.

o Watch Video Solution

7. Find all pairs of consecutive odd positive
integers both of which are smaller than 10

such that their sum is more than 11.

o Watch Video Solution



https://dl.doubtnut.com/l/_74MLNpz3CqBZ
https://dl.doubtnut.com/l/_iwQIfAnMg3mS

8. Find all pairs of consecutive even positive
integers, both of which are larger than 5 such

that their sum is less than 23.

o Watch Video Solution

9. The longest side of a triangle is 3 times the
shortest side and the third side is 2 cm
shorter than the longest side. If the perimeter
of the triangle is at least 61 cm, find the

minimum length of the shortest side.

| & I


https://dl.doubtnut.com/l/_rHy4cG1ejTi7
https://dl.doubtnut.com/l/_M65OjEKMeV9f

| ¥ Watch Video Solution |

10. A man wants to cut three lengths from a
single piece of board of length 91 cm. The
second length is to be 3cm longer than the
shortest and the third length is to be twice as
long as the shortest.What are possible lengths
of the shortest board if the third piece is to be

at least 5cm longer than the second?

o Watch Video Solution



https://dl.doubtnut.com/l/_M65OjEKMeV9f
https://dl.doubtnut.com/l/_amIo6e8LdodK

Exercise 6 2 Solve The Following Inequalities

Graphically In Two Dimensional Plane

1. solve the following inequalities graphically

in two-dimensional plane:z + y < 5

o Watch Video Solution

2. solve the following inequalities graphically

in two-dimensional plane2z 4+ y > 6

o Watch Video Solution



https://dl.doubtnut.com/l/_Fgsz1wsUyZnw
https://dl.doubtnut.com/l/_ZXj5YvgshK2u

3. solve the following inequalities graphically

in two-dimensional plane3z 4 4y < 12

° Watch Video Solution

4. solve the following inequalities graphically

in two-dimensional planey 4 8 > 2z

o Watch Video Solution



https://dl.doubtnut.com/l/_SdgukRYUJo4X
https://dl.doubtnut.com/l/_FHKKaQdbmhpy

5. solve the following inequalities graphically

in two-dimensional planex — y < 2

o Watch Video Solution

6. solve the following inequalities graphically

in two-dimensional plane2z — 3y < 6

o Watch Video Solution



https://dl.doubtnut.com/l/_U1ixVsKfTgPE
https://dl.doubtnut.com/l/_sMwcVC3sniqr

7. solve the following inequalities graphically

in two-dimensional plane—3x + 2y > — 6

° Watch Video Solution

8. solve the following inequalities graphically

in two-dimensional planedy — 5z < 30

o Watch Video Solution



https://dl.doubtnut.com/l/_zxkheYJ9hyqc
https://dl.doubtnut.com/l/_P4S5yeSqVj5s

9. solve the following inequalities graphically

in two-dimensional planey < — 2

o Watch Video Solution

10. solve the following inequalities graphically

in two-dimensional planex > — 3.

o Watch Video Solution

Exercise 6 3 Solve The Following System Of

Inequalities Graphically



https://dl.doubtnut.com/l/_d6ONYMpwB110
https://dl.doubtnut.com/l/_o9OjSqqmLuQD

1. solve the following inequalities graphically

in two-dimensional planxz > 3,y > 2

o Watch Video Solution

Exercise Miscellaneous Exercise On Chapter 6

Solve The Inequalities In Exercises 1To 6

1.2<3x —4<5

° View Text Solution



https://dl.doubtnut.com/l/_0Sx0eAoQOr4Z
https://dl.doubtnut.com/l/_D731n7bVWcR5
https://dl.doubtnut.com/l/_SuZcFeBDVDZf

2. Solve the inequality for

6< — 32z —4) < 12

o Watch Video Solution

3. Solve the inequality  for

° Watch Video Solution

4. Solve the inequality  for

3(x — 2)
—14 < = <0



https://dl.doubtnut.com/l/_SuZcFeBDVDZf
https://dl.doubtnut.com/l/_HWqCXhuDikev
https://dl.doubtnut.com/l/_Av494qsJ4yvd

° Watch Video Solution

5. Solve the inequality for

3
—12<4—_—5§2

o Watch Video Solution

6. Solve the inequality  for

° Watch Video Solution



https://dl.doubtnut.com/l/_Av494qsJ4yvd
https://dl.doubtnut.com/l/_owHAnFB48fKE
https://dl.doubtnut.com/l/_Tf7qicHCjBea

Exercise Miscellaneous Exercise On Chapter 6

Solve The Inequalities In Exercises 7 To 10 And

Represent The Solution Graphically On Number

1. Solve the inequality for X:

b4+ 1> —24 50 — 1 < 24

o Watch Video Solution

2. Solve the inequality for X:

2 —1) <z+53xz+2) >2—=x

° Watch Video Solution



https://dl.doubtnut.com/l/_TbkqklClggnS
https://dl.doubtnut.com/l/_XeEqxwwzR9u1

3. Solve the inequality  for X:

3z —7>2(zx—6),6—x>11— 2z

o Watch Video Solution

4. Solve the inequality for x

512 — 7) — 3(2x +4) < 0,2z + 19 < 6z + 47

o Watch Video Solution



https://dl.doubtnut.com/l/_XeEqxwwzR9u1
https://dl.doubtnut.com/l/_9l4Pf3EH6zR2
https://dl.doubtnut.com/l/_IqQJ1yOgRs8u

Exercise Miscellaneous Exercise On Chapter 6

1. A solution is to be kept between 68° F and
77° F. What is the range in temperature in
degree Celsius (C) if the Celsius / Fahrenheit
(F) conversion formula is given by

9
F:gC—I—32?

° Watch Video Solution

2. A solution of 8% boric acid is to be diluted

by adding a 2% boric acid solution to it. The


https://dl.doubtnut.com/l/_3ZH2lSQsaA97
https://dl.doubtnut.com/l/_H84exfbz0uVW

resulting mixture is to be more than 4% but
less than 6% boric acid. If we have 640 litres of
the 8% solution, how many litres of the 2%

solution will have to be added?

o View Text Solution

3. How many litres of water will have to be
added to 1125 litres of the 45% solution of
acid so that the resulting mixture will contain
more than 25% but less than 30% acid

content?

| e |


https://dl.doubtnut.com/l/_H84exfbz0uVW
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& View Text Solution I

4.1Q of a person is given by the formula

MA
I1Q) = x 100,

CA
where MA is mental age and CA s
chronological age. If 80 < IQ) < 140 for a
group of 12 years old children, find the range

of their mental age.

o Watch Video Solution
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